	CIS 601/2008  Quiz 3

	Name:
	TUId (4 digits)   _ _ _ _


	Q2 (2 points)
Guess the Fourier coefficients of the following curve (=define frequency and amplitude for cosine and sine of all participating curves) 
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	Q3 (3 points)

The statement ‘a group of outstandingly talented flautists can replace a whole orchestra’ was a joke (although not too funny, I know). If an experiment with the world’s top 15 flautists would be conducted, why would it fail to generate the sound e.g. of a piano?




	Q4 (2 points)
-1

1

-1

x
1
X
-1

1

-1

Compute the result of morphological hit and miss of the image below given the structural element
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